
qm=;+= ljjj/0f /sd s}lkmot
1 kfl/>lds, kbflwsf/L 12,000,000.00

2 tna, eQf sd{rf/L 10,000,000.00

3 kf]zfs 400,000.00

4 dxFuL eQf 80,000.00

5 b}=e| eQf 700,000.00

6 5kfO{ 1,000,000.00

7 j}7s eQf -kbflwsf/L / sd{rf/L_ 3,000,000.00

8 3/ef8f 500,000.00

9 ;~rf/ 500,000.00

10 :6]zg/L 2,000,000.00

11 lj1fkg / klqsf 200,000.00

12 dd{t ;Def/ 1,000,000.00

13 k/fdz{ tyf cGo ;]jf 700,000.00

14
cg'udg, d"NofFsg tyf cjnf]sg
e|d0f

1,000,000.00

15 OGwg 2,000,000.00

16 j}7s, vfhf, cltly ;Tsf/ 800,000.00

17 kfgL, ljB't 500,000.00

18 cGo jul{s/0f gePsf] 500,000.00

19 ufpF ;ef vr{ 1,000,000.00

20 uf8L tyf cGo ef8f 1,500,000.00

21 tflnd kbflwsf/L / sd{rf/L 800,000.00

22 sd{rf/L sNof0f sf]if 300,000.00

23 j8f sfof{nox?sf] ljljw vr{ 720,000.00

24
uf=kf= :t/Lo / j8f :t/Lo ;fj{hlgs
;'g'jfO{ sfo{qmd

900,000.00

25

;jf/L rfns, jlsn -clwjQmf_ :jsL{o
;lrj, gu/ k|x/L nufotsf s/f/
sd{rf/Lsf] nflu

900,000.00

26 ljljw 1,100,000.00

44,100,000.00

1 uf=kf=sf] nflu h]g/]6/ vl/b 490,000.00

2 d]zg/L cf}hf/ 2,500,000.00

k"Flhut tkm{ M
hDdf M–

dxf]Q/L ufpF kflnsf


dxf]Q/L, dxf]Q/L

cf=a= @)&%.)&^ sf] rfn' tkm{ Joo ljj/0f



3 kmlg{r/ 2,200,000.00

4 uf=kf=df Ps yfg PDa'n]G; v/Lb 1,000,000.00

6,190,000.00

50,290,000.00

1

:yfoL / c:yfoL / s/f/ / Hofnfbf/L sf]
tna tyf :yfoL sd{rf/Lx?sf] k|f]T;fxg
eQf ;d]tsf] nflu .

2,500,000.00 –

hDdf M–

uf=kf=sf] cfGtl/s >f]t tkm{ M
rfn' + k"Flhut hDdf M–


